Subject: Re: Still Birth in India DHS-VII
Posted by Janet-DHS on Mon, 09 Oct 2023 18:19:19 GMT

View Forum Message <> Reply to Message

Following is a response from DHS staff member, Tom Pullum:

You are probably asking about table 6.15 in the NFHS-5 final report. There have been several
forum postings on this table. Many tables in the NFHS-5 report cannot be matched exactly, but
this one is in a class of its own. The title of table 6.15 has nothing to do with how it was actually
constructed (and | cannot find the original code for its construction).

This survey did not include a pregnancy history and did not include a breakdown of terminations
into miscarriages and abortions in the calendar. (Stillbirths can be identified in the calendarasa T
preceded by 6+ months of P). The only explicit separation of terminations into miscarriages,
abortions, and stillbirths is given with s234, for the most recent pregnancy that did not end in a live
birth. Also relevant is v231, the cmc of that termination. That date can be compared with the cmc
of the most recent live birth, b3_01. (This is NA for women who have not had any live births.)

The most blatant evidence of a problem is that the n for table 6.15 is given as 255,549. From v208
you can find that 176,877 women had a live birth in the past 5 years. There are 31,495
terminations reported with s234. There is no way to get an n of 255,549 (these frequencies are
weighted).

Here are Stata lines that produce what | consider to be the distribution of outcomes that is
described in the table title:

* Table 6.15 in the NFHS-5 final report

* Did the most recent pregnancy within the past 5 years end in a birth, miscarriage,
* abortion, or stillbirth?

* b3 01 is the cmc of the latest live birth
*v231 is the cmc of the latest termination (not a live birth)
* 5234 is the type of termination (not a live birth)

use "...IAIR7EFL.DTA" , clear
gen wt=v005/1000000

tab s234 [iweight=v005/1000000]
gen bmas=s234 if v231>v008-60 & v231<.

* if there was a more recent live birth in the past five years, replace the termination
* code with O

replace bmas=0 if b19 01<60 & b3 _01>v231

label define bmas 0 "Birth" 1 "Miscarriage" 2 "Abortion" 3 "Stillbirth"

label values bmas bmas

tab bmas [iweight=v005/1000000]
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